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Chap. 12 Gravitation




Newton’s law of gravitation
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Gravitation constant G

= 6.67 x 107" N - m”/kg”
= 6.67 x 107" m?/kg - s



Newton’s shell theorem

Shell theorem
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Sample prob.
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Variation of a, with Altitude

Altitude a, Altitude
(km)  (m/s?) Example
Mean Earth
0 9.83 surface
8.8 9.80 Mt. Everest
Highest crewed
36.6 9.71 balloon
Space shuttle
400 8.70 orbit
Communications
35700 0.225 satellite
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Sample prob.




Gravitational potential energy
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Escape velocity
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Sample prob.
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Problem 2

a, b, cO| A 2 m0j Lot &= 57|
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